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MASS COMMUNICATION AND JOURNALISM
PAPER —1II

Note : This paper contains fifty (50) Multiple-choice questions, each question carrying
two (2) marks. Attempt all the questions.

1.  Which was the first Indian Advertising agency ?
(A) Bharatiya Advertising Agency
B) Global Advertising Agency
) Indian Advertising Agency
D) National Advertising Agency

2. IMRBis a unit of :
(A) United Thompson Associates
(B) Universal Thompson Associates
(C) Hindustan Thompson Associates
(D) Indian Thompson Associates

3.  What are VNRS ?
(A) Video non - residents
B) Video news releases
) Visual news releases
D) Visual news receivers

4.  ‘Press Trust of India * was established in :
(A) 1938 (B) 1936 (C) 1948 (D) 1947

5.  During whose viceroyalty was the ‘Repressive Act’ also known as the ‘Gagging Act’
passed :

(A) Lord Curzon
(B) Lord Lytton
(C) Lord Ripon
(D) Lord Morley

6. Who wrote “India on Television” ?
(A) Vinod Mehta
(B) Nitesh Mehta
(C) Lalit Mehta
(D) Nalin Mehta

J—6309 2



ST AT TR
PESREEE
A : WU T H e (50) dg-foashedt U €1 U U9 6 2 (2) oF B 1 |t Ut 6 S
s
1. frefafed § vam fommm o #iF 82
(A) ¥R faRmo Tl (B) Toitere fommae woidt
(C) Ffea fommm woih (D) et e ot

2. OTE.UH.IRS. Th T € :
(A) FAREES AT THIHTEH &l | (B) Ifada AHEA THIfHTed &t |
(C) TegwM oirgd TEifgued =l | (D) sfeed dfreH Taifdued = |

3. TAARTH FMT?
(A) =ifed TH-TE = | (B) =fifedl = Refisg |
(C) fogjerar ==t Redtsd | (D) dfiSera ==t e |

4. 'U9 T ATk Sfea’ e Tenfyq fomam o o

(A) 1938 (B) 1936 (C) 1948 (D) 1947

5. T S % wA-de ¥ et sifufam S ¢ Tersie. sifuftem ! off st ST g,
ElILCRERIKIRICI

(A) TS Hsid (B) e faea (C) e A (D) e ARl

6. ‘‘siugar o efifaeq’’ = o famn 82
(A) T e (B)  feeirer Hgan
(C) dfed Heal (D) feH Hear
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10.

11.

12.

13.

Which of the following statistical tools is used for Prediction ?
(A) Range

(B) Regression

(C) Standard deviation

(D) Mean

The height of Geostationary satellite above the surface of the earth is approximately :
(A) 36,000 km (B) 3600 km (C) 360 km (D) 36 km

In statistical measurement, a level of measurement in which the distance between the
two consecutive divisions is equal, is called :

(A) Ordinal level
(B) Nominal level
(C) Interval level
(D) Ratio level

IRS was first conducted in the year :
(A) 1995 (B) 1965 (C) 1985 (D) 1945

The structural potential for communications imperialism was pointed out by :
(A) Cees ]. Hamelink

(B) Johan Galtung

(C) Gunnar Myrdal

(D) Armand Mattelart

Which part of the Indian constitution contains fundamental duties ?
(A) Part-11

(B) Part-1V
(C) Part-IV - A
(D) Part-V

Which of the following is a popular editing software for film / video ?
(A) Quarkxpress

(B) Photoshop

(C) Final cut Pro

(D) Indesign
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11.

12.

13.
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14. Identify the newspaper which is published in tabloid form :

(A)
(B)
(C
(

)
D)

The telegraph
The statesman
Mail today
The Hindu

15. Which represents the principal light source in television programme production ?

(A)

Key light

Back light

Fill light
Background light

16. Identify the association that is correct :

(A)
(B)
©
(D)

Daniel lerner - Cultivation
Wilbur schramm - Diffusion of Innovation
Elihu Katz - Grammatolozy

Antonio Gramci - Hegemony

17. Identify the correct combination of Mass communication theories :

(A)
(B)
(C
(

)
D)

Hellical - Cultivation - Uses and Gratification - Agenda setting
Mathematical - Gate keeping - Propaganda - Hegemony
Post modernism - Westley and Maclean - Cultivation - Knowledge Gap

Cultivation - Uses and Gratification - Agenda setting - Cognitive Dissonance

18. ‘The airwaves are public property’ is a declaration of :

(A)
(B)
(©
(D)

Supreme court
Prasar Bharati
Press council

ITU

19. ‘“Yakshagana’ is the folk art of :

(A)
(©

J—6309

Kerala (B) Assam
Orissa (D) Karnataka
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14.

15.

16.

17.

18.

19.

Frefafad TR 3 9 oY 99ER 99 S0 989
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20.

21.

22.

23.

24.

Indentify the author who has defined development communication as leapfrogging
centuries of under development :

(A) Nora quebral (B) Wilbur schramm
(C) Daniel herner (D) Everette M Rogers.

Consider the following statements :

Assertion (A) : Corporate identity leads to Corporate Image.
Reason (R) : It promotes social identity and social responsibility.
(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Assertion (A) : Greater the attention media pay to issues,events, or personages, the
greater is the importance given by the audience to them.

Reason (R) :  Media can only influence what the people are to think about,not the
direction of opinion on issues.

(A) Both (A) and (R) are true
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false
(D) (A) is false but (R) is true

Assertion (A) : There is a rise in the number of “‘Religious TV Channels

Reason (R) : The majority TV audience in India likes to watch religious programmes
(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : In structuralism and semiology attention is directed to latent rather
than to manifest content.

Reason (R) : Structuralism and semiology believe that all “Units” of content should
be treated equally for analysis.

A) Both (A) and (R) are true

B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
C) (A) is true but (R) is false

D) (A) is false but (R) is true

o~ o~~~
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20.

21.

22.

23.

24.
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25.

26.

27.

28.

29.

Assertion (A) : Right to information Act (2005) was enacted in India to bring in
transparency and accountability in governance.

Reason (R) : The US government has passed such an Act.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Advertising messages tell us what the advertiser wants to say to the
customers.

Reason (R) : The ad agency wants to convey the messages to its clients.
(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Assertion (A) : Women view television serials/soaps more than men.
Reason (R) : Majority of women in India are housewives.
(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Assertion (A) : Viewer fatigue resulted in change in the content of news programing.

Reason (R) : Proliferation of 24/7 news channels and increasing competition for
advertising share has pushed the channels into sensationalising news.

(A) Both (A) and (R) are true
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Assertion (A) : India is an information society.

Reason (R) : An information society is that in which the percentage contribution
to GDP and the percentage of population working is services sector is
greater.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

J—6309 10



25.

26.

27.

28.

29.

3T (A) : I AfHR AUFT (2005) YR H 9 § IRERAT IR SEmeead dan
o foTT o T

@ (R) : F TH R 3 T it oA €

(A) (A) 3R (R) TH ¥ T |
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(A) (A) 3R (R) T TA T

(B) (A) 3R (R) I T § T (R) (A) Tl &l TISHI & ¢ |

(C) (A) @8 WY (R) A S|

(D) (A) 39 § TG (R) A B |

YFIT (A) : WA eflfrs YR geh/dd ST (5T THensii | ST Siel HAUm)
U i gl H SATe1 SEd | |

7% (R) : IR B stfepier forai i €1

(A) (A) 3R (R) T TA B

(B) (A) 3R (R) Sl T € T (R) (A) T FEl T & 2 |

(C) (A) @8 WY (R) A G|

(D) (A) 39 § TG (R) A B |
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(A) (A) 3R (R) T TA B

(B) (A) 3R (R) I ¥ € T (R) (A) T H&l TIEHT T |

Q) (A) 99§ T (R) 3TFA B |

(D) (A) 39§ TG (R) A B |

YT (A) : ¥R o1 Y9G IO T |

& (R) : T TS TS 3§ el St St § e o faera oiR dar & § el
SHEAT T Ui STeTRd ST € |
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(D) (A) 38 8 Y (R) A & |
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30. Assertion (A) : There has been a steady growth in the circulation of vernacular
newspapers in India.

Reason (R) : There has been great improvement in rail and road connectivity in
India.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

31. Match List-1 (Authors ) with List II ( Concepts ) :
List-1 (Authors) List-1I ( Concepts )

(a) Dallas Smythe (i) Postmodernism
(b) J.H Altschull (ii) Medium is the message
(c) F.Lyotard (iii) Cultural screen
(d) M.Meluhan (iv) Media - the agents of power
Code :
(@ @) (o (@@
(A) @) () @) ()
(B) @) () Gv) (@)
© Gv) @ G) ()
(D) @) @Gv) @ (D)

32. Match the List-I (News Agencies ) with List-II (Country of Origin) :

List-1 List-11
(News Agencies ) (Country )
(a) Renters (i) India
(b) Associated press (i) USA
(c) Agence France press (i) UK
(d) Press trust of India (iv) France
Code :
(@ @) (© @
(A) @) @ @) ()
(B) Gv) @ (D) (i)
© Gv) (@) @ @)
(D) (v) @) @) (i)
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30.

31.

32.

SIRIFT (A) : ¥R | I AT F THER Tk gaed § fafid gfs g 7
IR B ¥oT Ud Goh Geie H STeAferer e gam |
(A) (A) 3R (R) T TA B

B) (A) 3T (R) THI TF § W (R) (A) I T&l TR el B |
(A) ¥ & T (R) 379A ¢ |

(A) THA € TG (R) TA &

T R) :

geEt-1 (@) 1 Ge-I1 (TTUROME) o e aferd i

-1
(a) S HEY

(b) ST TR

(c) TH e

(d) TH. Hheger
FIT :

(@ @) (© @
(A) @ (@) @) ()
(B) () () () ()
Q) @v) @) @) (i)
(D) @) (@Gv) @ (i)

ge-11

I SAYhdIaT
HeAm € HIw ®
HiEhideh BhiA (FT)

Hifea-ufd & T

get-1 (F9ER TSIE) Sl g&i-11 (Yeew) o 919 gaferd Sifsg

-1

( FHTEIR TSEr)
) T

(b) TEfEEEE 9H

(c) TSTE wiE g
(d) UH & A sfre

(A) @) @ G (1)
B) Gv) @ (D) (i)
(© (v) @) @ 3G
(D) Gv) () @) ()

gai-11
(3or)
i) ura (gfeam)
i) HgwH Y AR (FTET,)
iii) IAEeS fhTed (F..)
iv) W™
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33. Match the List I (Software ) with List II (Application) :
List - I List - II
(Software ) (Application)
(a) SPSS (i) Layout printed material
(b) FCP (i) Sound / Audio Production
(c) Protool (iii) Audio / Video Production
(d) PageMaker (iv) Statistical Analysis
Code :

34. Match the List-I (Directors )with List=II (Films) :
List-I List-II
(a) Alfred Hitchcock (i) 36 Choweringhee lane
)

(b) Dada Saheb phalke (ii) Bhumika
(c) Aparna sen (iii) Birds
(d) Shyam Benegal (iv) Raja Harish Chandra
Code
(@ @) (© @
(A) @) (D) @) @)
(B) () (@v) @ @)
© @O @ @) @)
(D) @v) (@) @) (i)

35. Match the List-I (Concepts )with List-II (Propounders) :
List-1 List-1I
(Concepts ) (Propounders)

(a) Entropy (i) J.Habermas
(b) Empathy (i) E.M Rogers
(c) Laggards (iii) D.Lerner
(d) Public sphere (iv) Shannon and weaver
Code :
(@ @) (o @@
(A) @) @) @) (i)
(B) (v) (D) @) ()
(© @) @ (@) @)
(D) ® () @) ()
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33.

34.

35.

GeEl-1 (HTHRa=R) 1 gai-11 (3TIHAr) o @Y gafad Hifg

-1 gei-11
(a) TR TETH ()  Hfed 9t St S wE
(b) TH Gt (i) =g gEgfa-faio
(c) diea (iii) Tfear-fed geqfa- o
(d) USHHT (iv) e fagerm
e

(@ (b)) (o (@
(A) @) @Gv) @) (i)

B) @ () @) ()

Q) (v) () G) ()

(D) @) @)  (v) (i)

ge-1 (e 1 ge-11 (fhed) & Wy faam i :
g1 -1

(a) oTThe Teawis (i) 36 AR TH

(b) IS WIES et (i)  YgfHeR

(c) 39Ul §9 (i) EH

(d) vIH ST (iv) TS &9 ==

Fie:
(@ B () @

(A) @) (@) (@) ()

(B) (i) (@(v) @) (i)

© @ (@) @) ()

(D) @Gv) (@) G (i)

GeEl-1 (FEUROME ) 1 Ge-11 (Ffadeer) s WY gafed Sifs
gei-1 geit-11

(a) T (ISHA-TTT) () . TR

(b) THURY (TFYf) (i) 3T.TH ISRY

) e (frageE) (iii) <N TR

d) w8 (iv) 3T TUE FHR

FiIT
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36. Match the List-I (Concepts )with List-1I (Examples / Explanations) :

List-I List-II
(Concepts ) (Examples / Explanations)
(a) Category (i) Logo of ‘Bata’
(b) Segment (i) Breakfast cereal
(c) Added Value (iii) Sweetened Breakfast cered
(d) Functional Value (iv) Painkiller ‘SS’
Code
(@ B (o (@
(A) @@ Gv) @ ()
(B) (@v) @) @) (@)
(© @) @ @ (@v)
(D) @ @) (v) ()

37. Match the List-I (AIR Services ) with List-II (Year of commencement) :

List-1 List-1I
(a) External services i 1967
(b) Vividh Bharati (i) 1936
() News Services (iii) 1957
(d) Commercial Broadcasting (iv) 1943
Code

(@ (b (o (@
(A) @) @) @ (1v)
(B) (v) (i) @) @)
(©) (@v) @) @) (@)
(D) @@ @v) @) (i)

38. The correct Sequence of the constituents of the four estates is :

(A) Common — Lords — Press — Clergy

(B) Lords — Clergy — Common — Press
(C) Clergy — Common — Press — Lords
(D) Press — Lords — Clergy — Common.
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36. G-I (STAHRON) hl GeAl-11 (SITELN/EAHHIN) & Y GAferd HIfT :

g1 ge-11
( STSEITTITT) ( 3STETIT, TEIHIT)
(a)  Foft (i)  STeT o AR ()
(b) s (i) sREE HiEd
(c) aftiage™ (il) e IRERE HiEa
(d) YRS oA (iv) TafTares ‘SS’ (TAfeheR “SS')
FIE :
(@ @) (© @
(A) @) (@Gv) @ (i)
(B) (v) () (D) ()
Q) @) @) @) ()
D) @ (@) (v) (i)
37. ge-1 (3ifa gfean Wea (TaTE.3m) Qan) &l -1 (Y Beren o) o |1e gaferd
HifT
-1 gei-11
(a) WRI-Fad () 1967
(b) fafay- st (i) 1936
(c) HHFER-Yar (iii) 1957
(d) SHATEHIR - TR (iv) 1943
FIg :
(@ B () @
(A) @) @) @ o (@0v)
(B) (v) (i) () (D)
Q) (v) () @) ()
D) (i) (v) () (i)

38. WER-TTY % IS T TE R
(A) IEI (HiFA) -3l (ATSH) -IH-ATsiehar (FAsi)
(B) dreH (Afeafa)—Arstenert (Fersil)-FH= (i) -4
(C) ATSThar (FeTsil) - (hidd ) -J9-Afeafa (AreH)
(D) Tg-3fydfd (AfSd) ATsieher] (TSt ) - I (i)
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39.

40.

41.

42.

43.

Find the logical chronology of a moving Visual :
(A) Sequence — Frame — Shot — Film

(B) Frame — Shot — Film — Sequence
(C

(D

) Frame — Film — Sequence — Shot

) Frame — Shot — Sequence — Film

Indentify the correct combination of probability sampling :

(A) Multistage Cluster — Random — Systematic Random — Stratified
B) Random — Systematic — Multistage — Stratified

Random — Systematic — Stratified — Multistage

Systematic — Stratified — Random — Multistage-

Indentify the correct sequence of pages that is generally found in a daily newspaper :
(A) Page three — Edit — (Op-ed) — Sports
(B) Edit — (OP-ed) — Sports — Page three
(C) (OP-ed) — Edit — Page three — Sports
(D) Sports — Page three — Edit — (OP-ed)

The correct sequence of adopters of innovation is :

(A) Innovaters — Early Adopters — Laggards — Early Majority — Late Majority
(B) Laggards — Innovaters — Early Majority — Late Majority — Early Adopters
(C

(D

) Innovaters — Early Adopters — Early Majority Late Majority — Laggards.

) Early Adopters — Innovaters — Early Majority — Late Majority — Laggards.
Advertising strategy is a blend of :

i)  Marketing mix

ii) Creative mix

iii) Promotion mix

iv) Population mix

A) (i), (ii) Only

(i), (iii), (iv) Only
(ii), (iii), (iv) Only
(i), (ii), (iii) Only
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39.

40.

41.

42.

43.

T T % ThEITA-hIeTehT AT hIToIT :
(A) STTRAE-BIA (H)-Tie-aat= (Tre)
(B) @Tal-Sife-Tafaa-3T ey
(C

(D

) laT-tes- S E-ie

) S-S AThH-TeA =

G- U= < Hel WIS shi G8=r L |

(A) IIAE FHE-{USH-FHaRkYd Y0SH-d |
(B) YveH-Yafeed-agaRvia-wia

(C) (vey-gAafed-wRd-agaRi™

(D) GAdEqd-ENd-—{veH-agalu

<1eh THMERYS | WTHTIE: 9T S 96l g8 o Hel STIhH i Ugd™ ity
(A) T8I FECH IB-THE TR I8 (ST -we
(B) THICH JS-HHE FHICHE I8 (3TH-TErRI) -Td-J8-d
(C) TH[E GHGH I8 (TUI-TEIE) HHRehd I8 -J8-dH-ga
(D) WA-Yg-dH-HrIIeehd JS-HHE GHIeHhd J§ (STa-TEr)

TAIHIehT0T o TRl AT SRR Hdleil T T STIHT F1 R

(A) TAYSdR-IRIETS STTehehdi-IeaTad SATfehRehdi-UREHS FgHearesh - faafad
ERGECED

(B) ORAIId-TaYaich-UREeh T8 &Ah-[aelite agHeah-JRityeh STfehiehd

(C) aYadh-UR{IHe HrftenRehdl-IRfEYeh Tgaedsh-facited dgHeh-—qeantd

(D) YR SiTfehRehi-Tayadsh- IRty Sgaeds-faafted dgHeIsh-w=ad |

IEEILEIRISEIREE L R
() Ta9om fag
(ii) GCHR 5 A
(iti)  YrcdrRA g
(iv) e |y
(
(
(

~

—_

<

A) T (), (i)

B) Ta® (i), (iii), (iv)
Q) T&F (i), (iii), (iv)
(D) & (i), (i), (iii)
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44.

45.

46.

Which of the following is the correct sequence of the TV news personnel according to
the role they play in news production ?

(A) Reporter, Output editor, Input editor,Producer

(B) Output editor,reporter,Input editor,Producer
(C) Input editor,reporter, Output editor,Producer
(D)

Producer,reporter,Output editor,input editor

Indentify the correct sequence of the steps in a normal TV programme Production :
(A) Script — Looping/Dubbing — Editing — Digitization — Recording

(B) Script — Digitization — Recording — Editing — Looping/Dubbing

(C) Script — Recording — Digitization — Editing — Looping/Dubbing

(D) Recording — Script — Looping/Dubbing — Recording — Digitization

Read the passage below and answer the questions that follow based on your
understanding of the passage.

Uses and gratifications research has shed a good deal of light on viewer motivations
for watching TV,but the approach has not been particularly successful in predicting
the actual amount of television use.Roe Vandebosch (1996) suggest that one reason for
the inability to predict is that researchers sometimes overlook the obvious--such as the
weather

Seasonal variations in TV viewing are well documented :People watch more in
the winter and less in the summer.Roe and vandebosch,however,suggest that specific
weather effects occur with each season. The researchers gathered detailed meteorological
data in Belgium for a year including temperature, Precipitation amount,wind
speed,cloud cover,barometric pressure, and hours of sunlight. They also collected
television viewing statistics encompassing the percentage viewing and the daily average
amount of time spent watching.

Their results showed strong correlations between all their weather-related
measures,except for barometric pressure, and viewing with some correlations reaching
as high as 7.5 Further more,there was consistency within each individual reason. People
watch more TV when there were fewer hours of daylight,when the temperature was
low,when wind speed was high,and when these was some precipitation.

The implication in this finding for broadcasters was clear. The single most important
determiner of TV audience size was wholly beyond their control.

The main concern of the above paragraph is to :
(A) Establish the uses and Gratifications theory
(B) State what motivates the viewers

(C) Tell that the viewership cannot be predicted
(

D) State that television viewing with data can establish television viewing amount /
quantam.
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44.

45.

46.

HHAER-T90 § & ot TH=R-h1He! St e < hH o STIER A § § 98 T ghd
HATME :

(A) RO, sTecye THIRe, ST TFeeh, Fafd

(B) 3THeqe Heesh, NIy, e7qe weresh, fmfan

(C) Y HwEeh, MUY, A&eqe Heeeh, Tl
(

D) T, KUy, sTeeye 9viceh, 3792 THe,

WM et THRIhH- 00 o =R o FE-3ThH Sl T8aH hifaT

(A) fere- qftiefen-guca-festergsem-feniten

B) Tore-festersm-Rifén-dura-qftm/efam
Q) fore-Raifén-festersem-dureA-cfun/sfdm
(D) Teifen-fere-gfu/efan-Renifen-fesiersem

i fzar AT afi=s ufew 3ilv afi=dq &t ora+i @asT & MR uv 714 7€ 991 &7 307
FITT -

YN WE i WY A A @ &+ fou <9 % qASHl W R GHE Sl §, WA
AT SR i Srdfaeh G i Afersramult swed B fasiy 9 & Tohetar 8 wH Sl g1 A
USATR (1996) = I § fofr fTeHaToN ST hi ST&THAT I Teh RO I © foh TNEhal wfl-
Hl Yol A Tehe-SY foh e, whl ToRSTN X ed § 1

3.9t T B A Feae W ST Yol R fRT T e ol el % Hey § s iR
T o G H Y <Ed §, qefy, U TE aroeerst | oqr § o gcie 1| & fafy g game
B ¥ | St | vieenated 7 ad R % fow gy famm fawaes fagga stise wwa fae
S o, QTOEE, o9t 21 S St OTA, 91 ki, e STE, AT e SR G g & e |
IRM A T 1 gfavd g9g SR At <Ee W gfafed ey sid wHg W ot stids
TR for 2|

3eh IROTET 3 THE AT s Al o S bl Searer yefkia faan ® o
Y T T %, SR FT Tewrarl § A, WA 0.75 F TR TH ff g ¥ 1 59 Sifafi,
e AR HRU H AT 916 T8 | ST SA1QT 2Lafl. T @ § 59 fa i It sTaeend
FY ¥ % T SUetsy ], <9 MIHH %Y ©, W& 9 T e ¥, IR e w9 S8 g
OO el o fog, 39 aRomm § fMieded Tog on1 el 4iaisti 1 Tl Helifeesh Hewerqui
Fruien quidan 3k Fa=101 § =mee o |

37 IRE 1§ TSR ¥

(A) S9N w8 qiEe fag gfaarfed s

(B)  T¥Teh! =l &1 YR H¥el & g S

(C) % oI foh SRTehl bt HeA ot Aqfaeqamont =1&i i T Fehell T |

(D) = foh Tefifas 3o § Uwlg stiehe Telifas <@ & A feifa o 9ed §
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47.

48.

49.

50.

The above paragraph states that :

(A) The longer the day light available the longer a viewer watches television

(B) The shorter the daylight available the shorter a viewer watches television.
(C) The longer the day light available the shorter a viewer watches television.
(D) The television watching does not depend on the length of the day and night.

Which of the following is not a meteorological data ?
(A) Precipitation amount

(B) Cloud cover

(C) Wind speed

(D) The dust content

The correlation that was run was :

(A) Between Weather data and viewing habit.
(B) Between barometer pressure and wind speed
(C) Between temperature and type of Season
(

D) Between daylight and darkness.

The main point of the research that was done by Roe and Vandelbosch firmly
establishers :

(A) That Weather is the important variable to determine the viewership.
(B) Belgium as the center of weather research
Correlation is a must in reserch

TV audience size cannot be decided with one factor only

-00o0-
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47.

48.

49.

50.

Wqﬁﬁam%ﬁ?

(A) T T TFa T T o1 T @ § 31 B T Y Tk QUi Salltas o@dl ¢ |

(B) TG %W wHA T T 1 TohT™I 1§ A1 & HH WA Tk qRAh AfISH STl © |
(C) T & fe7 1 yohm ol T de SUGed BT § SaqT & %A 9HT o foTe <uie

Sofifas <@ |
(D) <citfasH <E faT iR Ta ot orarg W faeR e o €1

Tr=ifera o @ digy fagm fawges sriser we 6l €2

(A) STEEYO T A (B) e SR
(C) o i TIfd (D) g1 & |
Teary fohdeh o= o

(A) THraq gt e R TEH *i oTed & W™
(B) T Tl o IR 9 T % W=

(C) TIHM IR A9 &% YR & o

(D) foA o TohmT i TR & o=

q TH AUSAT GRI T TT ¥y i H&F o1 geargas Tfd st ¢

(A) T <ol =i S fuifa 0 & fae Sy mgegel =R 7

(B) T ScAfsrm Oy grerdt 9y 1 %= 2|

(C) T vy ¥ Hegmry 1fq emawa T

(D) T 21 diasti 1 sTehR o T e 9 & Ffv=a foran < wehan €1

-00o0-
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Space For Rough Work



